________________________ confidently converts quadratics


Date ______________
WS:
9.3-4
VERTEX to GENERAL
[image: image14.emf]
Given the following information, write the equation of the quadratic in vertex form. 

1. a = 1, Vertex: (2, -4)
2.  a = 2, Vertex: (-3, -2)

3.   a = 1/2, Vertex (3, -1)
Find the vertex of each graph, estimate the a value and write the equation of the quadratic in vertex form.

[image: image1.png]Vertex Form:

y=a(x-h)*+k

Factored Form: ¥ = a(x — r)(x —r2)

Standard form:

y=ax®+bx +c

vertex: (h, k)
roots (x-int): ry, ry

y-int=c




4.  a =        Vertex: (     ,    )
5.  a =        Vertex: (     ,    ) 

6.    a =        Vertex: (     ,    )
[image: image11.emf][image: image12.emf]
Convert each equation from vertex form to general form.  Check your answers by entering both expressions into a graphing calculator or coolmath.com/graphit.
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10. Consider the graph of the parabola 
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a. What are the coordinates of the vertex?


b. Write the equation in vertex form.


c. Check that the equation you wrote in 10b is correct by expanding it to general form.



11.  Maria thinks that she has found a shortcut to the rectangle diagram method of squaring a binomial.  
She says that you can just square everything inside the parentheses.  Is her method correct?  Explain.
Maria’s solution: 
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12.  The function 
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describes the height of a softball thrown by a pitcher 
where h(t) is in meters and t is in seconds.

a. How high does the ball go?

b. What is an equivalent function in general form?

c. At what height did the pitcher release the ball when t was 0s?

d. What domain and range make sense for this situation?

Rewrite the following equations in vertex form.
13.  
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